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5.75 | 0\
T
1.50 150 0,25 200 @ \\\\\\\\
&
i \\‘\\\\\\\\
\ AN
~ \
~~
\ \

~— \
~
\ -
\
NO. 835. 5 (MC. 36) NO. 8427 (BC. 37)
GH=910. 86 - - -
FH=008. 77 GH=912. 30
209 FH=008. 84
3,46
L =27
CAGS)=32.6
CAR)= 6.8
LS 2.7 T~ BA =
\ — |
L = 72 R
CAS)= 23,2 T~ _ FiLmER |
5.75 CAR)= 1.0 T~

1.50 50 0.25 1.38 BA
P T~

B
\\%\\

1.50  0.25 2.00

v #\
(R
i
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NO. 860. 0
GH=909. 90
FH=908. 19
-1.71
.82 |

25 132 1

AN

\\
.
\\

NO. 857. 3 (EC. 37)

GH=909. 76
FH=908. 31
-1.45
TR BERE 2.6
5.49
1.50 1.50 0.25

N

\\ NO. 872. 4 (NC. 38)
\ GH=909. 85
FH=907. 64
N
\ -2.21
\\
U (\‘\.5'/060’
L = 2.7 \ i
CA(S)=14.4 AN
CAR)= 1.0 4
BA = \ 025 750 | \1.50 025
FE = 34° N 0.75
ARUEEBEKIAZ AT \\
200-1A& 300-1A
AN
\ \ NO. 863. 9 (BC. 38)
\ GH=909. 76
FH=908. 02
N -1.75
\\\\ o
~
\\ \
AN
\ |
1.50~._0, 25
L = 7.3
CA(S)=13.3
CAR)= 1.4
BA =
\\

L = 85
CA(S)=15.5
CAR)= 1.0
BA =

L =39
CA(S)=12.9
CAR)= 0.7
BA =




NO. 890.0

GH=908. 69
FH=907. 59

-1.10

ARBEHKIAZAT O
400-17% \\\\\

NO. 880.0

GH=909. 13
FH=907. 48

-1.65
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L =10.0
CA(®)= 7.5
CAR) =
BA =

L =176
CA(S)=13.0
CARR) =
BA =
FE =35

NO. 900.0

GH=909. 78
FH=907. 87

-1.91

NO. 896. 7 (IP. 39)

GH=909. 71
FH=907. 79

-1.92

L =33
CA(S)=11.7
CAR)=
BA =
ME =37

L = 6.7
CA(S)=11.1
CAR)= 0.1
BA =
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NO. 913. 4 (BC. 40)

GH=909. 27
FH=907. 69

-1.58

NO. 907.0

GH=909. 45
FH=907. 88

-1.58

L = 6.4
CA(S)=11.1
CAR)= 0.2
BA =

N
L =170
CA(S)=10.8
CAR) =
BA =

NO. 927. 6 (EC. 40)

GH=909. 07
FH=906. 86

-2.21

AN
\ 50
0.25 1.50 150 0°25 L =76
N i . CA(S)=14.0
\ I CAR)= 0.2
BA =
DB
‘& o”%
AN
KB EHKTAR A T 4oo-1z<\
N
N
N
GH=009. 88 ~
FH=007. 32
-2.56
< <
\ \6\)% |
AN
\ AN L = 6.6
“ CA(S)=13.6
26— 66 o 0.2 CAR)= 0.7
BA =
5\d #fE = 36°
o\B ©) !
AN
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NO. 948. 6 (BC. 41)

GH=908. 28
FH=905. 95
-2.33
B 10.8
ROERE 1.9 LM 11.0
L = 8.6
CA(S)=17.5
519 CAR)= 0.4
1.50 1.50 0.81,0/25 BA =22.9
N
N
N

GH=907. 96
FH=906. 12

-1.84

L =12.4
CA(S)=11.2
CAR) =
BA =
#ME =37°

TR it

BA"=38.3
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NO. 960. 0

GH=905. 69
FH=905. 72
0.0 fRBERE 10.8
LA 2.7 fRIDEERE 8.6
5.25
87 1.50 150 0880 25 L =19
CAGS)= 6.8
CAR)=
BA =44.3
B = 41°
NO. 958. 1 (MC. 41)
GH=906. 68 _——
FH=905. 76
~0.92 \\\\\\\ -
RO IERE 10.7 N
LR 2.5 RS 9.5 \\\\ ~\\\\
N
5.125 L = 9.5 U N
CA(S)=11.2
250,87\, 1.50 150 _ 0.880 25 AR 0.2 . <,
BA =31.7 \\\\\\\\
— N
e ~ \\\\\\\\
h N ™~ -
N ™~
g N
AN DN .
\
\\\\\\\ N ~
N
b < A EHS
BA=31.7 % ,
\\\\\ AN BA' =47.5
N
AN
AN
AN N
N
N
N AN

AMEFES
BA'=48. 1
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NO. 975. 4 (MC. 42)

GH=906. 63
FH=905. 41
e DS 10.8
RIS 2.3 RLERE 9.6
L = 7.8
5.125 CA(S)=10.0
. 250. 87 1.50 1.50 0.880, 25 CQA(R)iZ;.:
NO. 967. 6 (ECBC42) -
\
GH=903. 15
FH=905. 57 @
D 1
2.42 %% _—
~
ROIERE 10.8 \ ™~ ~
U 1L EB /8 .
LIS 6.9 A ™~ § ~
5.5 \ N o ™
0.250.87 1.50 1.50 0.880. 25 AN \
L =76 § A EHES
CA(S)= \ A BA' =48.9
CAR)= BA=29.9 AN
BA =61.5 %0
\ q
N N \\
J N N DN
NS N N DN
N ™~ N N
o~ N ™~ ~ N
A AN - S AN -
\ ~ N -
N BA=61. 5 AN | . N
N A EES
N BA’ =49. 1
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NO. 980. 0

GH=905. 76
FH=905. 32

-0.44

fmDEERE 10.8

NO. 983. 1 (EC. 42)

gL 2.6

fRIDEERE 9.5

. 250.87 1.50 1.50

0.880.

L = 4.6
CA(S)= 8.8
CAR)= 1.6
BA =31.6
FE = 45°

AMERS
BA'=47.9

GH=907. 04
FH=905. 23
-1.81
{ROBERE 10.8
WDERE 2.3 RibEERE 10.1
5.19 L = 3.1
| 250.87 1.50 1.50 _, 0.810, CA(S)=13.1
CAR)= 3.0
\ii>>\ BA =26.3
- - \
AN A
AN A

AMEHES
BA' =46. 4




~
\\\\\\\\ NO. 1013. 9 (ECBC44)
GH=907. 35
FH=004. 03
-3.32
NO. 1000. 0 BULER 2.0
GH=906. 11
FH=004. 72 e
~1.39 CA(S)=20.2
CAR)= 8.2
_ imlRERE 2.9 BA =
5.25
L = 8.0
CAGS)= 161 el 175~ _,_ 1.50 1.50
5.13 CAR= 1.7 -
1.63 g 1.50 0.25 BA =
— T R = 40° N
N
N
N \\

NO. 1006. 3 (MC. 43)

N GH=906. 67
NO. 992.0 N FH=904. 41
. .992. \ . o
\\\\\\\\ GH=906. 98 AN
FH=94. 96
N -2.02 \\\\ \\\\ fRLERE 2.5

AN
\\\\\\\\ L = 63
CA(S)=19.5
L = 89 \\\\q\ CAR)= 3.5
e 50 0% BA =
CA(S)= 16.4 5
EAV) CAR)= 0.6
\\\\l_so 0.25 BA =
S
- IS
\//Q'

AREREPFKIAZA T
200-1A& 300-14&

)
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L =83
CA(8)=19.5

CAR= 3.1 5.03
BA = 5028 1.6 150 . W50 035
\ AN

©)
AN
REREHKIAZ A T 300-2K \ N

AN

N

AN
NO. 1028. 3 (EC. 44) \

GH=905. 30
FH=903. 31

-1.99

frDEEBE 2.6

L = 6.1
CA(S)=23.8
CAR)= 2.7
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NO. 1020.0

GH=906. 51
FH=903. 72

-2.79

fmILEERE 2.2

1.50 1.5

AN

NO. 1040.0

GH=904. 77
FH=902. 72

-2.05

fRIDEERE 9.3

fRNGERE 1.8

fmiLEEEE 8. 1

5.64

.25 1.50 1.50

L =117
CA(S)=12.7
CAR)= 1.2
BA =22.6
FE = 45°

BA=22.6

o T T T I~
~
~
AMEHES
BA'=21.9
X
%

o
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NO. 1052. 7

L = 6.6

GH=898. 73
FH=902. 14

3. 41 fmiDBERE 9.3

fmILEEEE 3.6
12.75
2.25 . 25
BA=60. 2 S
% o
H FLPEPEEEE ¢ 20cm

NO. 1046. 1 (MC. 45)

CA(S)=
CAR)=
BA =60.2

AMERS
BA'=21.3

\\\\\\\ ‘ —
GH=902. 79
FH=002. 44
-0.35 ROIER 9.3
fRIDEESE 1.6 RiiEEE 7.1
L = 61
5.75 CA (S): 3.5
25 159 1.50 2.5 %5 CAR)=
BA =312
\ - - 0T 7T/
| ~ S
~ N N
N
N
BAS3L.2 N, KM EHIG
~ & BA =21, 3
\ \
™~ |
\\\\\\\\\ N -
~
\ AN
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AN
AN
GH=903. 26
FH=001. 80
~1.46
R 9.3
R 78
N I
5.75
1.50 1.50 2.5 0.2
L =13
CAS)= 1.7 RRCE — e e e N
CAR= 1.1
#iﬁ? i l§;7 A AN
R = \\\\\ N
BA=18.7 KA TR
~ BA'=21.3
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NO. 1080. 0
\ GH=904. 35
FH=900. 88
\\ -3.47
AN
(‘\)(:06’
N
N 3.50
NO. 1067. 7 (EC. 46) 0.2, 1.50 1.50
Wl N
GH=905. 11 \g S
FH=901. 44 @\ S /\W
-3.67 N
N
mDEERE 9.4 \\\\
N
|06 RDERE 9.4 \
L = 7.7 N
| CA(S)=14.6
CAR)= 7.4
5.50 BA = 9.0
1.50 \2\00 5
N
~ \
\ N
™~ K LTS
N N o BA'=19. 9
~ \\
h 9.0

L =12.3
CA(S)=18.4
CAR)= 1.5
BA =
#IE = 40




NO. 1097. 4 (IP. 47)

GH=902. 99
FH=900. 60

-2.39

L = 82 50 .
CA(S)=14.3 N 0,25
CAR)= 0.6 T
BA =

@
5:7') ~ &b'\/ll

NO. 1089. 2

AREREPFKIAZA T

NO. 1103.0

GH=902. 19
FH=900. 70

-1.49

400-1AK

AN GH=902. 39
\ FH=900. 61
-1.78
AN
3. ‘50
1.50 1.50~_ 0.25
L = 9.2 N
CA($)=13.0
CAR)= \
BA . \
AN
AN
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NO. 1100.0

GH=902. 90
FH=900. 64

-2.26

L =30
CA(S)=12.9
CAR)= 0.1
BA =

AN

L = 26
CA(S)=13.2
CAR)= 0.3
BA =
HE = 36°




NO. 1132. 2 (MC. 48)

GH=903. 40
FH=901. 21
-2.19
RO 2.7
GH=903. 10
FH=901. 00 .
-2.10 CA(S)=20.7
215 CAR)= 5.5
1.50 1.50 0.25 BA =
©) \
\
05
AN

<
o
o

5
]

- L =10.0 .
‘ CA(S)= 16. 1 ABREHEKTIAR A T \
] CAR)= 1.0 400-1A4  300-14&
BA =
I =42 \

NO. 1110.0 h \\\\\ NO. 1125. 8 (BC. 48)

GH=902. 45 \\\\\\\\ N o GH=902. 40
FH=000. 82 \\\\\\\ G FH=901.10
-1.63 -1.30

\\\\\\ ‘ G N
N
5.50 L =58
025 200 N 50 1050 0.25 CA(S)=18.2
NE CAR= 2.1
e BA =
1.50 0.25 L =10 ‘%;f;
CA(S)=10.5
CAR= 0.2 o
BN BA =
(SN .
h N
h N
h N
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NO. 1157. 7 (BC. 50)

o
~ GH=905. 05
\\\\\\\\ FH=901. 88
~ 317
fRIDEEHE 1.4
~
NO. 1146. 9 (MC. 49) S x Ry
CA(S)= 20.0
GH=003. 42 — CAR= 4.6
1,86 1.50 1.5 0.89.0, 25
DS 2.9
L = 69
CAS)= 21.3 A
- |— CAR= 3.7
BA = N
5.75
1.50 150~ \\\\\\\
AN
AN
AN \
S NO. 1155. 3 (EC. 49) N
GH=904. 30 \\\\\\\
FH=001. 81
NO. 1140.0 249
GH=905. 11
FH=901. 35
OB 2.2
376
L L = 8.4
CA(S)= 19.3
FLmER 2.1 5. 61 CAR)= 4.0
1.50 50 % 95 BA =
L =78 ig?i
CA(S)= 27.4 i\ N
CAR)= 8.6 ©)
BA =
fE =25
5.75 \\\\\\\\
1.50 150 0 ~
~ \
~
~ \
~
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N
N
L = 39
CA(S)=20.8
CAR)= 5.1
BA =
N
N

L = 23
CA(S)=22.9
CAR)= 5.4
BA =

#E =37
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NO. 1163. 9 (MC. 50)

GH=904. 81
FH=902. 07

-2.74

fmIDNERE 2.0

.75

1.50 .13 0.2

NO. 1160.0 >
AN

GH=905. 43
FH=901. 95

-3.48

R ERRE 1.

AN

NO. 1177. 4 (MC. 51)

GH=905. 78
FH=902. 39

-3.39

fRIDEERE 2.3

\
N0.1170.2(BC.5{;\\
\

GH=904. 03
FH=902. 26
-1.71
fmIDEEREN2. 4
5.,75
.12 1.50 1.50 - 1.13 0.25

L =172
CA(S)=26.4
CAR)= 5.6
BA =

L = 6.3
CA(S)=15.5
CAR)= 2.6
BA = 1.2
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NO. 1184. 5 (EC. 51)

GH=905. 52
FH=902. 37

-3.15

fRIOEERE 1.9

.67

1.50 1.05 0,

N

AN

NO. 1180.0

GH=905. 65
FH=902. 40

-3.25

fmILEEEE 2.1

1.50 w13 0.

L = 4.5
CA(S)=24.5
CAR)= 5.3
BA =
N

L = 2.6
CA(S)=23.8
CAR)= 4.9
BA =
#E =41°

NO. 1200. 0

GH=904. 06
FH=901. 95
-2.11
|
[
0]
1.50 1.50 ~.0. 25
A —— — —— —
DN
\
\

NO. 1195. 8 (IP.52) >

GH=903. 68
FH=902. 08

-1.60

N

L = 4.2
CA(8)=13.8
CAR)= 0.3
BA =
B = 42

AN

N

L =11.3
CA(S)=11.0
CAR)=
BA =

AN




NO. 1212. 5 (IP. 53)

GH=903. 12

A FH=001. 58
\ -1.54
N

250 L =125
: CA(S)= 10.4

1.50 0.25 CAR)=

BA =

N
N
N

N
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